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For each cluster, if it has more than a certain percentage of DH publications, all of its 
publications are DH. 
 
With crossref, we can have these results: 
With a 30% threshold, we take into account 3 clusters and 40% of the DH publications from 
journals.

 
 

 
 
 
 
 



 
With a 5% threshold, we take into account 6 clusters and 49% of the DH publications from 
journals. 

 

 
In this case, we have around 50% of sparse DH publications in fewer dense clusters. 
 
Do we have to treat them in different ways?  
 
Clusters (with 30+/5+ % DH pubs) are DH clusters, so all the pubs within are DH 
DH sparse pubs, all the other pubs fewer dense. Analyze their cluster distribution and what 
they contain. Why these pubs are there. 
 
 



Experiment 01 
 

threshold 30% 

DH pubs ratio 39.9% [1740 / 4359] 

clusters 3 

 

 
 
Exploring deeper the clusters 

Cluster 1  
label:​ 1004 
publications:​ 3219 
journals:​ 536 
Top 10 journals: 

 

Cluster 2  
label:​ 2409 
publications: ​718 
journals:​ 251 
Top 10 journals: 



 

Cluster 3 
label:​ 3230 
publications: ​268 
journals:​ 82 
Top 10 journals: 

 


